DAY 52

MCA CET 24
MATHS

2 -~ N \
B . .
> 4 \
Y N
> 49 / i
~ ® 5% , \
. If 4 e
] B\ %
&% 17 \a £
g \ ¥ ”
s B 4 o SN e
v o Lol e it A\
y - ’ 9 B - At
' f i /
x5 3 Yo
> 4 ¢
ey N
.' './"'V
57
- s ¥ N :
3 g - 2 )
B S S
A 5 ,'3:
'.; ¥ ’ PO
A % ;H
' R

@2sy
= =5
-
5B



JOIN US ON §35) WHATSAPP joIN us ON (<4) TELEGRAM

Y FOR MAH MCA CET 2025



understanding parts ok hyperbola
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PS, - PS,= 200

PS1= e PNy
PSZ: GPNZ

PN~ PN, = 2_0'
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PS, = eN+A
PSZ = GX-Q




b% = a2(e*-1)

underskanding parks ot hyperbola -
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Powe: (Xae,0) '
EquO? Avectnir @ A= t% é‘: a/e, 0) oNn x ~A1S

Cemter - (O)O)
A (-a,0) A, (a0) B:1(0,b) @, ( 0,~b)

TheseAdre frnag»fnﬂﬂﬁ povnls

Vertex:

Leng of travisverse axis:. 2a
Lengin of  cmjugate axis b 2b
Length o latus rectum: 2_13?2

Focal Radiv © 8P = €%, + o ps, — PS, = 20
SZP =0y = 0



Understanding parts ot hyperbola Y
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. Parometeic  Form of H"WW'
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Tamﬁent +to HA{wadla,

‘3’ MX+C wik be tavgent to

bola A2 =

¥ (2= a’m?-p>
EqV\- D’b' "l"a/‘ﬂ,geM.k > lj=MX+Jan2_b2
Point 0‘-‘? ontack = (j a’m + bl)
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The length of letusractum of the hyperbola T
16x2-9y? =144 is ) ,
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“ The distance between the directrices of a rectangular
S hyperbola is 10 units, then distance between its foci is

(@) 10V2 (b) 5 (c)5V2  (d) 20
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The distance between the directrices of a rectangular
hyperbola is 10 units, then distance between its foci is

(@) 10V2  (b) 5 c) 52 //(Aizo
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The eccentricity of the hyperbola 25x2 - 9y? = 144 is
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The equation of the hyperbola in the standard form (with
transverse axis along the X-axis) having the length of the

letusractum = 9 unit and eccentricity = Z IS
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The standard equation of the hyperbola having the
dlstance between foci as 32 and eccentricity 2\/2 IS

a) 7x - y2 =66 X 2ee = 32 =22
b) x2- 7y2 =66 T |

%7% )% 22<m<2fi'—‘%7" e -

(d) x2- 7y2 = 224 a= 22°
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